MATH 1210 Techniques of Classical and Linear Algebra Exam Answers
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Equation P(z) =0 has 3 or 1 positive real roots, 1 negative real root.
_ 4/7  =5/7
_ 1 _
det A=7 A" = {_1/7 3/7 }
T has 4 eigenvalues, all real.
3v2(cos =F + isin =T).

—5 — 264.
T ()i - ).
1 2 -1
. Linearly independent since det |1 3 2 | = —6 #0.
0 4 6
1677.
-2 5
—4 3
-2 7
. Linearly dependent: too many in two dimensions.
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Corresponding to A = 6 is u = r | =3/4 | (u # 0), and corresponding to A = —1 is

1
1 0

v=s|0|+t|1]| (v#0).



